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CHEMISTRY

BOOKS - UNITED BOOK HOUSE

MODEL QUESTION PAPER 10

1. Which one is disobeyed in Bohr theory—

A. Uncertainty principle
B. exclusion principle
C. Aufbau principle

D. Hund rule



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NK5iJ2jOuX7L

Answer:

o Watch Video Solution

2. Which one isisoelectronic with CO-

A NPT
B.CN "~
C.OH "~

D.O9*

Answer:

o Watch Video Solution

3. Which one is not linear-


https://dl.doubtnut.com/l/_NK5iJ2jOuX7L
https://dl.doubtnut.com/l/_rcS9SSM035RF
https://dl.doubtnut.com/l/_qpgwx1Xy3uqa

A. S?’I,Clg

B. NO,

D. SO,

Answer:

o Watch Video Solution

4. If thesolubility of Ag,C50y is water be‘S’ its solubility product.

A. 483

B. 25°

C.283

D. 853


https://dl.doubtnut.com/l/_qpgwx1Xy3uqa
https://dl.doubtnut.com/l/_O0ieCejFZsb2

Answer:

o Watch Video Solution

5. In which case temperature drops down—

A. Isothermal compression

B. Isothermal expansion

C. Adeabatic compression

D. Adiabetic expansion

Answer:

o Watch Video Solution

6. For an gaseous reaction if An=0 then which one is correct :


https://dl.doubtnut.com/l/_O0ieCejFZsb2
https://dl.doubtnut.com/l/_3v1Bvii8ncNT
https://dl.doubtnut.com/l/_bomqiLT6AyEU

AAH +U >0

B.AH > AU

C.AH < AU

D.AH = AU

Answer:

o Watch Video Solution

7. Which one is correct for equilibrium constant of a revessible

reaction—

A. It depends on initial concentration of reactant

B. It is characteristic index of a reaction

C. depends on the concentration of product at equilibrum

D. Depends on the nature of reactant


https://dl.doubtnut.com/l/_bomqiLT6AyEU
https://dl.doubtnut.com/l/_4V3bI9npF3tM

Answer:

o Watch Video Solution

8. Which one can'’t be indetifled by flame test:

A Ca®t
B.Sr™ T
C.Mg+t™

D.Ba™t ™

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_4V3bI9npF3tM
https://dl.doubtnut.com/l/_5PzWlLhkNpI2

9. In which of the following molecules is hydrogen bridge bond

present ?

A. CaH2

B. B€H2

D. S’I‘HQ.

Answer:

o Watch Video Solution

10. Which one is least basic:

A CH;NH,

B.(CH;),NH


https://dl.doubtnut.com/l/_887gvKoONOR9
https://dl.doubtnut.com/l/_LmPrAboJfafG

C.(CH;) N

D. CF3NH,

Answer:

o Watch Video Solution

11. Hybridsation of Carbocationic Carbon atom—

A. NF

B. SP?

C.SP

D. HI

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_LmPrAboJfafG
https://dl.doubtnut.com/l/_6sO4rtbFZ5fP

12. Which one does not show peroxide effect:

A. HF

B. HCI

C. HBr

D. HI

Answer:

° Watch Video Solution

13. TheMurcury compound use in oxymercuration reaction—

B. Hg(OCOH),


https://dl.doubtnut.com/l/_MYy3Gg3b54kY
https://dl.doubtnut.com/l/_DPIbdeHu7sJO

D. HgSO4

Answer:

o Watch Video Solution

14. Pyrolysis is a disease of:

A. Heart

B. kidney

C. Lungs

D. skin.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DPIbdeHu7sJO
https://dl.doubtnut.com/l/_64WHa1Ph2Cw4

15. No of significant figure in 0.080200 is?

o Watch Video Solution

16. The emperical formula of glucose is

o Watch Video Solution

17. Give an example of nictogen element.

o Watch Video Solution

18. What is transitional element.

o Watch Video Solution



https://dl.doubtnut.com/l/_qNDgPicLK1H5
https://dl.doubtnut.com/l/_qQEHrCcaLRhX
https://dl.doubtnut.com/l/_q9FzAOhoMDbJ
https://dl.doubtnut.com/l/_LP8yyA43039Y
https://dl.doubtnut.com/l/_XibfNt7lLJp3

19. What is the change of entropy in irreversible adiabatic change?

° Watch Video Solution

20. What are the product of ozonolysis of o-xylene?

o Watch Video Solution

21.1f 1 kg sugar Costs Rs. 32 find the cost of 1 mole sugar.

o Watch Video Solution

22. Show that normal density = 0.089 x Vapourdensity.

o Watch Video Solution



https://dl.doubtnut.com/l/_XibfNt7lLJp3
https://dl.doubtnut.com/l/_nHwQYy5Wxb4L
https://dl.doubtnut.com/l/_jwDIVuzBXtMb
https://dl.doubtnut.com/l/_snGA3MPKgSQV

23. Calculate the energy of emr having wave'length 3000;1.

° Watch Video Solution

24. If the positional uncertainty of an electron like particle be

5.6 x 10~ "em.find its uncertianty in velocity.

° Watch Video Solution

25. Which one of the following conditions will favour maximum
formation of product in the reaction

Az(g) + BQ(g) = Xz(g), AT A H = a:’k.]—

o Watch Video Solution

26. Give example of homogeneous & hetrogeneous equilibrium.


https://dl.doubtnut.com/l/_EMGfCSa3CS1q
https://dl.doubtnut.com/l/_ptiVWmBIpTd5
https://dl.doubtnut.com/l/_ZMqjLVRWG8GY
https://dl.doubtnut.com/l/_GoQ6l8S0L81f

° Watch Video Solution

27.1s HCI cause hardness to water? What is the meaning 'Hardness

is 300 ppm’?

o Watch Video Solution

28. What is smog? State one harmful effect of N,O.

o Watch Video Solution

29. What are isodiaphers, Isotone & nuclear isomerism? Give

example.

o Watch Video Solution



https://dl.doubtnut.com/l/_GoQ6l8S0L81f
https://dl.doubtnut.com/l/_lCUyNiXwhS4D
https://dl.doubtnut.com/l/_PjkydiZ3s4mZ
https://dl.doubtnut.com/l/_wuEktWfe3sIu
https://dl.doubtnut.com/l/_x7L8abHrbs0m

30. Which one has the highest paramanetic property and which
one has least paramagnetic property give reason

Cu’", Fe’ " &Cr° ™.

o Watch Video Solution

31. Find the position of the element having atomic number 24. In
which block the element comes? State whether its metal or non

metal?

o Watch Video Solution

32. What do you mean by Stair step diagonal? State its

significance.

o Watch Video Solution



https://dl.doubtnut.com/l/_x7L8abHrbs0m
https://dl.doubtnut.com/l/_rjskpB49J6Gp
https://dl.doubtnut.com/l/_BV3Iht9FVWUc
https://dl.doubtnut.com/l/_cMT9G24p9B7k

33. If the dipole moment and bond length of HF be 2.0 D and
® C.2A°then find its percent ionic characterWhich one has

higher boiling point NH3 Or PH3?

o Watch Video Solution

34. Explain why the viscosity and boiling point of HySO, is too

high.Write the Caharacteistics of hydrogen bonding.

o Watch Video Solution

35. What do you mean by surface tension? What is PI? How it is

related with Poise?

0 Watch Video Solution



https://dl.doubtnut.com/l/_cMT9G24p9B7k
https://dl.doubtnut.com/l/_0nziP50aPcbk
https://dl.doubtnut.com/l/_eja4oFhV2vlC

36. What do you mean by enthalpy? Show that

AH = AU + AnRT.

o Watch Video Solution

37. Define free energy. Comment for its change in a sponttaneous

reaction.

o Watch Video Solution

38. Identify ABCD:
N CHsI H 10)
A ‘sB-2C * D *  CH;CHO + CHO
LigN H, pd / BaSO4 Zn | H,O

. Name the alkene ozonalysis of which gives Glyoxal and formal

dehyde.

o Watch Video Solution



https://dl.doubtnut.com/l/_TwEa9gSSeAgd
https://dl.doubtnut.com/l/_KUC8osH6exHy
https://dl.doubtnut.com/l/_UDFxs64chgts

39. If 4ml O,is obtained at 1.5atm pressure and 25°C from 1 ml

H,0, solution. Then find the volume strength of H,O, solution.

o Watch Video Solution

40. How would you differch mically Na,CO3 & NaHCO;3 which

alkali metal form nitordedirectly?

o Watch Video Solution

41. State the conditions of SN2 reaction? What is l-effect?

o Watch Video Solution

42. What type of equilibrium is

3Fe(s) + (g) fFe304(S)4H,(g)Discuss the effect

this

of


https://dl.doubtnut.com/l/_CbejWxW77TPX
https://dl.doubtnut.com/l/_zh5TVyKvpJ3N
https://dl.doubtnut.com/l/_JZ9WxA1EFCpn
https://dl.doubtnut.com/l/_K04xZA9mDLaZ

incorporation of inert gas at the homeogeneous equlibrium at

constant temperature and pressure.

° Watch Video Solution

43. Shall phenolpthalein be wused in neutralisation of
Nay;CO3byHC1? Why the solubility of AgCN be increased by

addition of KCN. What is the sum of PH & POH of a solution.

o Watch Video Solution

44. Why CO Can't be dried using comes H,50,? Give an example
of a reaction in which the product formed is a liquid by the

reaction for Mond process for thp extraction of it.

° Watch Video Solution



https://dl.doubtnut.com/l/_K04xZA9mDLaZ
https://dl.doubtnut.com/l/_5TAubuBwoj9a
https://dl.doubtnut.com/l/_DozbGppJ9dz8
https://dl.doubtnut.com/l/_xRYHmuv8RJ27

45, State reason:Why the radius of Ga is less than that of Al

o Watch Video Solution

46. State reason:The melting point of Boron is top high.What is

Corundum? State one use of it.

o Watch Video Solution

47. How would you differ Chemically between ethane and ethene.
What will happen if Benzene is Ozonolysed? What is used in

atnimarkownikopt reaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_xRYHmuv8RJ27
https://dl.doubtnut.com/l/_SYVaSWLWqyai
https://dl.doubtnut.com/l/_iwVgOSSdkCKV

48. How would you Convert. State one demerits Fredel craft

alkylation reaction.:

° Watch Video Solution

49. How would you Convert. State one demerits Fredel craft

alkylation reaction.:

.0
(I_}
“CH,

° Watch Video Solution



https://dl.doubtnut.com/l/_IZpDGKRumdOn
https://dl.doubtnut.com/l/_nrMgIwlVn7Mx




